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Name: __________________________________



1
The accompanying figure shows the graph of the equation [image: image1.png]


.
[image: image2.png]



What is the slope of the line [image: image3.png]


?

1) 5   2) [image: image4.png]


   3) 0   4) undefined

2
What is the slope of a line represented by the equation [image: image5.png]y=x-4



?
1) 1   2) [image: image6.png]


   3) [image: image7.png]


   4) [image: image8.png]




3
What is the slope of the line whose equation is [image: image9.png]2y =5x+4



?
1) 5   2) 2   3) [image: image10.png]


   4) [image: image11.png]




4
What is the slope of the line represented by the equation [image: image12.png]4x+ 3y



?
1) [image: image13.png]B



   2) [image: image14.png]RN



   3) [image: image15.png]


   4) [image: image16.png]




5
What is the slope of the line represented by the equation [image: image17.png]4x+ 3y




?
1) [image: image18.png]


   2) [image: image19.png]


   3) [image: image20.png]


   4) [image: image21.png]




6
What is the slope of the line whose equation is [image: image22.png]


?
1) [image: image23.png]


   2) [image: image24.png]| RNy



   3) [image: image25.png]


   4) [image: image26.png]RN





7
What is the slope of the line whose equation is [image: image27.png]3x—4y-1




?
1) [image: image28.png]


   2) [image: image29.png]


   3) 3   4) [image: image30.png]




8
What is the slope of the linear equation [image: image31.png]S5y—10x=-15



?
1) 10   2) 2   3) [image: image32.png]-10



   4) [image: image33.png]-15





9
The line represented by the equation [image: image34.png]


 has a slope of
1) [image: image35.png]


   2) 2   3) 3   4) [image: image36.png]




10
What is the slope of the line whose equation is [image: image37.png]4x =3y +8)



?
1) [image: image38.png]


   2) [image: image39.png]


   3) [image: image40.png]


   4) [image: image41.png]




11
Which linear equation represents a line that has a slope of [image: image42.png]


?
1) [image: image43.png]-2y =-3x+6



   2) [image: image44.png]~dy=2x+6



   3) [image: image45.png]Jy=-2x+6



   4) [image: image46.png]Jy=2x+16





12
The line [image: image47.png]


 has


1) a slope of [image: image48.png]


 and a y-intercept of [image: image49.png]


   2) a slope of [image: image50.png]


 and a y-intercept of 6   



3) a slope of 3 and a y-intercept of [image: image51.png]


   4) a slope of [image: image52.png]


 and a y-intercept of [image: image53.png]





1
ANS:
4
REF:
060012a

2
ANS:
2
[image: image54.png]



REF:
011409ia

3
ANS:
3
To solve for y, divide the equation by 2.  [image: image55.png]



REF:
010203a

4
ANS:
4
[image: image56.png]



REF:
011516ia

5
ANS:
4
[image: image57.png]



REF:
061319ia

6
ANS:
2
[image: image58.png]



REF:
011122ia

7
ANS:
1
[image: image59.png]



REF:
089919a

8
ANS:
2
[image: image60.png]



REF:
060205a

9
ANS:
4
[image: image61.png]



REF:
061212ia

10
ANS:
1
[image: image62.png]



REF:
061615ia

11
ANS:
4
REF:
061509ia

12
ANS:
1  [image: image63.png]


.  [image: image64.png]c_12
yintercept = 2= == 6




.
REF:
060428a

